

# Commentationes Mathematicae Universitatis Carolinae

---

Cong Xin Wu; Hui Ying Sun

On the  $\lambda$ -property of Orlicz space  $L_M$

*Commentationes Mathematicae Universitatis Carolinae*, Vol. 31 (1990), No. 4,  
731--741

Persistent URL: <http://dml.cz/dmlcz/106908>

## Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1990

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library*  
<http://project.dml.cz>

## On the $\lambda$ -property of Orlicz space $L_M$

CONGXIN WU, HUIYING SUN

*Abstract.* In this paper, we show that each Orlicz space  $L_M$  with the Orlicz norm has the  $\lambda$ -property and give a criterion of that  $L_M$  has the uniform  $\lambda$ -property.

*Keywords:* Orlicz space,  $\lambda$ -property, uniform  $\lambda$ -property

*Classification:* 46E30

### Notation.

Let  $X$  be a Banach space,  $B(X)$  the closed unit ball,  $U(X)$  the open unit ball and  $S(X)$  the unit sphere. A point  $e$  of a convex subset  $A$  of  $X$  is an extreme point of  $A$  if  $x, y \in A$  and  $e = \frac{1}{2}x + \frac{1}{2}y$  imply  $e = x = y$ . The set of the extreme points of  $A$  is denoted by  $\text{ext}(A)$ . A point  $x \in B(X)$  is said a  $\lambda$ -point if there exist  $e \in \text{ext}(B(X)), y \in B(X)$  and  $\lambda \in (0, 1]$  such that  $x = \lambda e + (1 - \lambda)y$ . In this case, the triple  $(e, y, \lambda)$  is said to be amenable to  $x$ .  $X$  is called to have the  $\lambda$ -property if each  $x \in B(X)$  is a  $\lambda$ -point. If  $X$  has the  $\lambda$ -property and satisfies

$$\inf\{\lambda(x) : x \in B(X)\} > 0,$$

where  $\lambda(x) = \sup\{\lambda : (e, y, \lambda) \text{ is amenable to } x\}$ ,  $X$  is called to have the uniform  $\lambda$ -property (see [1]).

Let  $M : R \rightarrow R^+$  satisfy the following conditions:

- a)  $M(u)$  is even, convex and continuous;
- b)  $M(0) = 0$  and  $M(u) > 0$  for  $u \neq 0$ ;
- c)  $\lim_{u \rightarrow 0} M(u)/u = 0, \lim_{u \rightarrow \infty} M(u)/u = \infty,$

and  $G$  be a bounded closed set of  $n$ -dimensional Euclidean space  $E^n$ . The Orlicz space  $L_M$  is the family of all real Lebesgue measurable functions  $x(t)$ , defined on  $G$ , for which  $\varrho_M(kx) = \int_G M(kx(t)) dt < \infty$  for some  $k > 0$ .  $L_M$  with the Orlicz norm

$$\|x\| = \sup\left\{ \int_G x(t)y(t) dt : \varrho_N(y) \leq 1 \right\}$$

is a Banach space, where  $N(v)$  is the conjugate function of  $M(u)$ .

We denote the set of all points on which  $M(u)$  is not strictly convex by  $D$ , i.e., for  $v \in D$  there exist  $a, b$  such that  $a < v < b$  and  $M(u)$  is affine on  $(a, b)$ . It is clear that  $D = \bigcup_i (a_i, b_i)$ , where  $(a_i, b_i)$  are non-overlapping intervals. We also define  $k_x^*$  and  $k_x^{**}$  by

$$k_x^* = \inf\{k > 0 : \int_G N(p(kx(t))) dt \geq 1\}$$

and

$$k_x^{**} = \sup\{k > 0 : \int_G N(p(kx(t))) dt \leq 1\},$$

respectively. By [2] or Theorem 1.27 in [3],

$$\|x\| = \frac{1}{k} \left(1 + \int_G M(kx(t)) dt, \quad x \neq 0,\right.$$

iff  $k \in [k_x^*, k_x^{**}]$ .

In [4], we obtain that each Orlicz space  $L_M$  with the Luxemburg norm ( $\|x\|' = \inf\{k > 0 : \varrho_M(x/k) \leq 1\}$ ) has the  $\lambda$ -property and it has the uniform  $\lambda$ -property iff  $M(u)$  is strictly convex. In this paper, we shall see that the condition " $L_M$  with the Orlicz norm has the uniform  $\lambda$ -property" is different from " $L_M$  with the Luxemburg norm has the uniform  $\lambda$ -property", and the proving methods are completely different.

### Main results.

**Lemma 1.** *If  $x \in U(L_M)$ ,  $x$  is a  $\lambda$ -point.*

**PROOF :** Since  $\text{ext}(B(L_M)) \neq \emptyset$  by [5], taking  $e \in \text{ext}(B(L_M))$ , we have for any  $x \in U(L_M)$ )

$$\begin{aligned} x &= x + (1 - \|x\|) \left(\frac{1}{2}e - \frac{1}{2}e\right) \\ &= \frac{1}{2}(1 - \|x\|)e + \frac{1}{2}(1 + \|x\|) \left(\frac{1}{2}e - \frac{1}{2}(1 - \|x\|)e\right) / \frac{1}{2}(1 + \|x\|) \\ &= \frac{1}{2}(1 - \|x\|)e + \frac{1}{2}(1 + \|x\|)y, \end{aligned}$$

where  $y = 2(x - \frac{1}{2}(1 - \|x\|)e)/(1 + \|x\|)$  and  $y \in B(L_M)$ . This shows that  $x$  is a  $\lambda$ -point. ■

**Theorem 1.**  *$L_M$  has the  $\lambda$ -property.*

**PROOF :** By Lemma 1, we only need to prove that for any  $x \in S(L_M)$ ,  $x$  is a  $\lambda$ -point. By [5] or Theorem 2.3 in [3],  $x \in S(L_M)$  is an extreme point of  $B(L_M)$  iff for all  $k \in [k_x^*, k_x^{**}]$ ,  $m\{t \in G : kx(t) \in D\} = 0$ . Hence for  $x \in S(L_M)$  but  $x \in \text{ext}(B(L_M))$ , there exists  $k_x \in [k_x^*, k_x^{**}]$  such that  $m\{t \in G : k_x x(t) \in D\} > 0$ . Define

$$G_i = \{t \in G : k_x x(t) \in (a_i, b_i)\}, \quad i = 1, 2, \dots,$$

then  $m \bigcup_i G_i > 0$ . Without loss of generality, we may assume  $x(t) \geq 0$ . Let

$$\begin{aligned} E'_i &= \{t \in G_i : k_x x(t) \leq \frac{1}{4}b_i + \frac{3}{4}a_i\}, \\ E''_i &= \{t \in G_i : k_x x(t) \geq \frac{1}{4}a_i + \frac{3}{4}b_i\}, \end{aligned}$$

$G'_i, G''_i$  be partitions of  $G_i$  with  $G'_i \supset E'_i, G''_i \supset E''_i, i = 1, 2, \dots$ , and

$$k_e = 1 + \sum_i (M(a_i)mG'_i + M(b_i)mG''_i) + \int_{G \setminus \bigcup_i G_i} M(k_x x(t)) dt,$$

then  $k_e < \infty$ . Indeed, if  $\sum_i M(b_i)mG_i < \infty$ , it is clear. Otherwise, we set  $c_i = \|\chi_{G_i}\|_\infty, c'_i = \min\{b_i, 4c_i - a_i\}$  and

$$E_i = \{t \in G_i : k_x x(t) \geq \frac{3}{4}a_i + \frac{1}{4}c_i\}, \quad i = 1, 2, \dots$$

Obviously,  $mG_i > 0$  implies  $mE_i > 0$ . As  $M(u)$  is linear on  $(a_i, b_i)$  and

$$\begin{aligned} & \sum_i M\left(\frac{3}{4}a_i + \frac{1}{4}c_i\right)mE_i \\ &= \sum_i \{(M(b_i) - M(a_i))\left(\frac{3}{4}a_i + \frac{1}{4}c_i - a_i\right)/(b_i - a_i) + M(a_i)\}mE_i \\ &= \sum_i \{(M(b_i) - M(a_i))(c_i - a_i)/4(b_i - a_i) + M(a_i)\}mE_i \\ &\leq \sum_i \int_{G_i} M(k_x x(t)) dt \leq \int_G M(k_x x(t)) dt < \infty, \end{aligned}$$

we have

$$\begin{aligned} \sum_i M(c'_i)mE_i &\leq \sum_i \{4(M(b_i) - M(a_i))(c_i - a_i)/(b_i - a_i) + M(a_i)\}mE_i \\ &= 16 \sum_i M\left(\frac{3}{4}a_i + \frac{1}{4}c_i\right)mE_i - 15 \sum_i M(a_i)mE_i < \infty. \end{aligned}$$

Remarking  $mE_i \geq mG''_i$ , as  $c_i \leq b_i$ , and  $mG''_i = 0$  whenever  $b_i > c'_i, i = 1, 2, \dots$ , we obtain

$$k_e \leq 1 + \rho_M(k_x x) + \sum_i M(b_i)mG''_i \leq 1 + \rho_M(k_x x) + \sum_i M(c'_i)mE_i < \infty.$$

Set

$$\begin{aligned} \lambda &= \min\left\{\frac{1}{4}, k_e/4k_x\right\}, \quad 1/k_x = \lambda/k_e + (1 - \lambda)/k_y, \\ e(t) &= \frac{1}{k_e} \left( \sum_i (a_i \chi_{G'_i} + b_i \chi_{G''_i}) + k_x x(t) \chi_{G \setminus \bigcup_i G_i} \right) \end{aligned}$$

and  $x = \lambda e + (1 - \lambda)y$ . For  $t \in G \setminus \bigcup_i G_i$ ,  $k_x x(t) = k_e e(t)$  and

$$\begin{aligned} k_x x(t)/k_y &= k_x x(t) \left( \frac{1}{k_x} - \frac{\lambda}{k_e} \right) / (1 - \lambda) \\ &= (k_e - \lambda k_x) x(t) / k_e (1 - \lambda) = (x(t) - \lambda k_x x(t) / k_e) / (1 - \lambda) \\ &= (x(t) - \lambda e(t)) / (1 - \lambda) = y(t), \end{aligned}$$

so  $k_x x(t) = k_e e(t) = k_y y(t)$ . Since  $\lambda k_x/k_e \leq \frac{1}{4}$  and  $(1-\lambda)k_x/k_y \geq \frac{3}{4}$ , for  $t \in G'_i$ ,

$$\begin{aligned} a_i &\leq k_x x(t) = \lambda k_x a_i/k_e + (1-\lambda)k_x k_y y(t)/k_y \\ &\leq \frac{1}{4}a_i + \frac{3}{4}b_i \leq \lambda k_x a_i/k_e + (1-\lambda)k_x b_i/k_y. \end{aligned}$$

From  $a_i \leq \lambda k_x a_i/k_e + (1-\lambda)k_x k_y y(t)/k_y$ , we have  $k_y y(t) \geq a_i$  and from

$$\lambda k_x a_i/k_e + (1-\lambda)k_x k_y y(t)/k_y \leq \lambda k_x a_i/k_e + (1-\lambda)k_x b_i/k_y,$$

$k_y y(t) \leq b_i$ . Similarly, for  $t \in G''_i$ ,

$$\begin{aligned} b_i &\geq k_x x(t) = \lambda k_x b_i/k_e + (1-\lambda)k_x k_y y(t)/k_y \\ &\geq \frac{1}{4}b_i + \frac{3}{4}a_i \geq \lambda k_x b_i/k_e + (1-\lambda)k_x a_i/k_y \end{aligned}$$

and  $a_i \leq k_y y(t) \leq b_i$ . Hence we have  $k_y y(t) \in [a_i, b_i]$  for  $t \in G_i, i = 1, 2, \dots$ . This shows that

$$\begin{aligned} 1 = \|x\| &= \frac{1}{k_x} \left(1 + \int_G M(k_x x(t)) dt\right) \\ &= \frac{(1-\lambda)k_e + \lambda k_y}{k_e k_y} \left(1 + \int_G M\left(\frac{k_e k_y}{(1-\lambda)k_e + \lambda k_y} (\lambda e(t) + (1-\lambda)y(t))\right) dt\right) \\ &= \frac{(1-\lambda)k_e + \lambda k_y}{k_e k_y} \left(1 + \frac{\lambda k_y}{(1-\lambda)k_e + \lambda k_y} \int_G M(k_e e(t)) dt \right. \\ &\quad \left. + \frac{(1-\lambda)k_e}{(1-\lambda)k_e + \lambda k_y} \int_G M(k_y y(t)) dt\right) \\ &= \frac{\lambda}{k_e} (1 + \varrho_M(k_e e)) + \frac{(1-\lambda)}{k_y} (1 + \varrho_M(k_y y)) = \lambda + \frac{(1-\lambda)}{k_y} (1 + \varrho_M(k_y y)) \end{aligned}$$

and  $\|y\| \leq \frac{1}{k_y} (1 + \varrho_M(k_y y)) = 1$  by Theorem 10.5 in [6].

Now, if we have  $e \in \text{ext}(B(LM))$ , then  $x$  is a  $\lambda$ -point. To prove  $e \in \text{ext}(B(LM))$ , it is enough to show that  $k_e = k_e^* = k_e^{**}$  by Theorem 2.3 in [3].

Let  $k_x = k_x^* = k_x^{**}$ . For any  $k > k_e$ , we fix  $k' \in (k_e, k)$  and define  $k'' = k'k_e/(\frac{1}{4}k_e + \frac{3}{4}k'), k_0 = \min\{k_x k/k', k_x k''/k_e\}$ . If  $k''(\frac{1}{4}a_i + \frac{3}{4}b_i)/k_e \geq b_i$ , then

$$\begin{aligned} k' \left(\frac{1}{4}a_i + \frac{3}{4}b_i\right) / \left(\frac{1}{4}k_e + \frac{3}{4}k'\right) &\geq b_i, \\ k'' \left(\frac{1}{4}a_i + \frac{3}{4}b_i\right) &\geq \frac{3}{4}k' b_i + \frac{1}{4}k_e b_i, \\ \frac{1}{4}k' a_i &\geq \frac{1}{4}k_e b_i, \text{ and } k' a_i/k_e \geq b_i. \end{aligned}$$

For  $t \in G'_i, i = 1, 2, \dots$ , if  $k''(\frac{1}{4}a_i + \frac{3}{4}b_i)/k_e \geq b_i$ , then

$$p(ke(t)) = p(k'ka_i/k_e k') \geq p(kb_i/k') \geq p(kk_x x(t)/k') \geq p(k_0 x(t))$$

and if  $k''(\frac{1}{4}a_i + \frac{3}{4}b_i)/k_e < b_i$ , then

$$\begin{aligned} p(ke(t)) &\geq p(k_e e(t)) = p(a_i) = p(k''(\frac{1}{4}a_i + \frac{3}{4}b_i)/k_e) \\ &\geq p(k''k_x x(t)/k_e) \geq p(k_0 x(t)), \end{aligned}$$

as  $p(u)$  is right-continuous and  $k''(\frac{1}{4}a_i + \frac{3}{4}b_i)/k_e \geq a_i$ . Noticing that for  $t \in G''_i, i = 1, 2, \dots$ ,

$$p(ke(t)) = p(kb_i/k_e) \geq p(kk_x x(t)/k_e) \geq p(kk_x x(t)/k') \geq p(k_0 x(t)),$$

$k''/k_e > 1, k/k' > 1$ , and  $k_0 > k_x^{**}$ , we obtain

$$\int_G N(p(ke(t))) dt \geq \int_G N(p(k_0 x(t))) dt > 1.$$

This yields  $k_e \geq k_x^{**}$ . Similarly, we have  $k_e \leq k_x^*$ . So  $k_e = k_x^* = k_x^{**}$ .

Now, let  $k_x^* < k_x^{**}$ . For any  $s', s'' \in (k_x^*, k_x^{**}), s' < s'', N(p(s' x(t))) \leq N(p(s'' x(t)))$  and

$$1 = \int_G N(p(s' x(t))) dt \leq \int_G N(p(s'' x(t))) dt = 1.$$

Hence  $N(p(s' x(t))) = N(p(s'' x(t)))$  a.e.. As  $N(v)$  is convex and  $N(v) > 0$  for  $v \neq 0$ ,  $p(s' x(t)) = p(s'' x(t))$  a.e.. We assume, for simplicity,  $p(s' x(t)) = p(s'' x(t))$  for all  $t \in G$ . This implies that for any  $s \in (k_x^*, k_x^{**})$  and  $t \in G$  with  $x(t) \neq 0$ , there exist  $a, b$  such that  $a < sx(t) < b$  and  $p(u)$  is constant in  $(a, b)$ , i.e.  $sx(t) \in D$ . Remarking  $p(u_i) \neq p(u_j)$  for  $u_i \in (a_i, b_i), u_j \in (a_j, b_j), i \neq j$ , we have

$$\{t \in G : s' x(t) \in (a_i, b_i)\} = \{t \in G : s'' x(t) \in (a_i, b_i)\}$$

for any  $s', s'' \in (k_x^*, k_x^{**})$  and  $k_x^* x(t) \geq a_i, k_x^{**} x(t) \leq b_i$ , whenever for some  $k \in (k_x^*, k_x^{**})$  with  $kx(t) \in (a_i, b_i), i = 1, 2, \dots$ . Let

$$N' = \{i : m\{t \in G : kx(t) \in (a_i, b_i)\} > 0, k \in (k_x^*, k_x^{**})\}.$$

Obviously,  $N'$  is not empty. If there exist  $k_1 \in (k_x^*, k_x^{**})$  and  $j \in N'$  such that

$$\begin{aligned} m\{t \in G : a_j \leq k_1 x(t) \leq a_j/4 + 3b_j/4\} &> 0, \\ m\{t \in G : 3a_j/4 + b_j/4 \leq k_1 x(t) \leq b_j\} &> 0, \end{aligned}$$

then taking  $k_1$  instead of  $k_x$ , we can choose  $G'_j, G''_j$  with  $mG'_j > 0, mG''_j > 0$ . For  $k > k_e$ , without loss of generality, we may assume  $k_0 < k_x^{**}$ . Hence for  $t \in G''_j$

$$p(ke(t)) = p(kb_j/k_e) > p(a_j) = p(k_0 x(t))$$

and for  $t \in G \setminus G_j''$ ,  $p(ke(t)) \geq p(k_0x(t))$ . Therefore

$$\begin{aligned} \int_G N(p(ke(t))) dt &\geq \int_{G \setminus G_j''} N(p(k_0x(t))) dt + \int_{G_j''} N(p(ke(t))) dt = \\ &= \int_G N(p(k_0x(t))) dt + \int_{G_j''} N(p(ke(t))) dt - \int_{G_j''} N(p(k_0x(t))) dt > 1 \end{aligned}$$

i.e.  $k_e \geq k_e^{**}$ . Similarly, we can get  $k_e \leq k_e^*$ . So  $k_e = k_e^* = k_e^{**}$ .

Otherwise, for all  $i \in N'$  either

$$m\{t \in G : a_i \leq k_x^* x(t) < \frac{1}{4}a_i + \frac{3}{4}b_i\} = 0$$

or

$$m\{t \in G : \frac{3}{4}a_i + \frac{1}{4}b_i < k_x^{**} x(t) \leq b_i\} = 0.$$

If there exist  $i', i'' \in N'$  such that

$$m\{t \in G : \frac{3}{4}a_{i'} + \frac{1}{4}b_{i'} < k_x^{**} x(t) \leq b_{i'}\} = 0,$$

$$m\{t \in G : a_{i''} \leq k_x^* x(t) < \frac{1}{4}a_{i''} + \frac{3}{4}b_{i''}\} = 0,$$

we may assume  $mG_{i'}' > 0, mG_{i''}'' > 0$ , or else take  $k \in (k_x^*, k_x^{**})$  instead of  $k_x$ . As above, we have  $k_e = k_e^* = k_e^{**}$ .

If for all  $i \in N'$

$$m\{t \in G : \frac{3}{4}a_i + \frac{1}{4}b_i < k_x^{**} x(t) \leq b_i\} = 0,$$

then

$$m\{t \in G : k_x^{**} x(t) \in (a_i, b_i)\} > 0, \quad i \in N'.$$

Let  $k_x = k_x^{**}$ , then  $mG_i' > 0, mG_i'' = 0$  for  $i \in N'$ . In the same way as above we have  $k_e = k_e^* = k_e^{**}$ . If for all  $i \in N'$

$$m\{t \in G : a_i \leq k_x^* x(t) < \frac{1}{4}a_i + \frac{3}{4}b_i\} = 0,$$

let  $k_x = k_x^*$ , the result is the same. ■

**Lemma 2.** *If  $D \neq \emptyset$  and  $K = \sup\{b_i/a_i : b_i > 1\} < \infty$ , then  $M(b_i)/N(p(a_i)) \leq 2(K-1)$  provided  $M(b_i)/M(a_i) \geq 2K$ .*

**PROOF :** Let  $d_i = M(b_i)/M(a_i) \geq 2K$ , then

$$d_i = ((b_i - a_i)p(a_i) + M(a_i))/M(a_i)$$

by Theorem 1.1 in [6]. Hence

$$(d_i - 1)M(a_i) = (b_i - a_i)p(a_i)$$

and

$$M(b_i)/(b_i - a_i)p(a_i) = d_i/(d_i - 1).$$

Using the equality in Young inequality, we have

$$(b_i - a_i)p(a_i)/(N(p(a_i)) + M(a_i)) = (b_i - a_i)p(a_i)/a_i p(a_i) \leq K - 1$$

and

$$N(p(a_i)) \geq (b_i - a_i)p(a_i) \left( \frac{1}{K-1} - \frac{1}{d_i-1} \right).$$

This means

$$\begin{aligned} M(b_i)/N(p(a_i)) &\leq d_i(K-1)(d_i-1)/(d_i-K)(d_i-1) \\ &\leq d_i(K-1)/(d_i - \frac{1}{2}d_i) \leq 2(K-1). \end{aligned}$$

■

**Theorem 2.**  *$L_M$  has the uniform  $\lambda$ -property iff*

$$\sup\{b_i/a_i : b_i > 1\} < \infty.$$

**PROOF :** If  $K = \sup\{b_i/a_i : b_i > 1\} < \infty$ , let  $N'' = \{i : b_i > 1\}$ ,  $K' = M(1)mG + 4K + 1$  and  $\lambda = 1/4K'$ . For  $x \in S(L_M) \setminus \text{ext}(B(L_M))$ , we define  $k_x, G_i, i = 1, 2, \dots$ , and  $k_x$  as in Theorem 1. Denote

$$C = 1 + \int_{G \cup \bigcup_i G_i} M(k_x e(t)) dt = 1 + \int_{G \setminus \bigcup_i G_i} M(k_x x(t)) dt.$$

Using Lemma 2 and

$$\sum_i N(p(a_i))mG_i \leq \int_G N(p(x(t))) dt \leq 1,$$



by Lemma 9.1 in [6], we have

$$\begin{aligned} k_x/k_e &= (1 + \int_G M(k_x x(t)) dt) / (1 + \int_G M(k_e e(t)) dt) \\ &\leq (\sum_i M(b_i)mG_i + C) / (\sum_i M(a_i)mG_i + C) \\ &\leq \frac{M(1)mG + 2K \sum_{i \in N''} M(a_i)mG_i + 2(K-1) \sum_{i \in N''} N(p(a_i))mG_i + C}{\sum_i M(a_i)mG_i + C} \\ &\leq M(1)mG + 2K + 2(K-1) + 1 \leq K'. \end{aligned}$$

Hence  $\lambda k_x/k_e \leq \lambda K' \leq \frac{1}{4}$ . Setting  $e$  and  $x = \lambda e + (1-\lambda)y$  as in Theorem 1, we may prove that  $(e, y, \lambda)$  is amenable to  $x$  in the same way as in Theorem 1. This implies  $\lambda(x) \geq 1/4K'$  for  $x \in S(L_M)$ . By [1], for  $x \in B(L_M)$

$$\lambda(x) \geq \frac{1}{2}(1 + \|x\|)\lambda(x/\|x\|) \geq 1/8K', \quad x \neq 0,$$

and  $\lambda(\Theta) = \frac{1}{2}$ . Thus, we obtain that  $L_M$  has the uniform  $\lambda$ -property.

Let  $L_M$  have the uniform  $\lambda$ -property, then

$$\inf\{\lambda(x) : x \in B(L_M)\} = \lambda_0 > 0.$$

If  $\sup\{b_n/a_n : b_n > 1\} = \infty$ , without loss of generality, we may assume  $b_n/a_n > n^3$ ,  $n = 1, 2, \dots$ , and  $N(p(a_1))mG > 1$ . Fix the disjoint sets  $F', F'' \subset G$  satisfying  $mF' = mF''$  and  $N(p(a_1))mF' = \frac{1}{4}$ . For  $n > 3$ , taking  $G_n \subset G \setminus F' \cup F''$  such that  $N(p(a_n))mG_n = \frac{1}{2}$  and a partition of the same measure  $\{E_{n_i}\}_1^n$  of  $G_n$ , we define

$$\begin{aligned} u_{n_i} &= (1 - 1/i \ln n)a_n + b_n/i \ln n \quad 1 \leq i \leq n, \\ k_n &= 1 + \sum_1^n M(u_{n_i})mE_{n_i} + M(a_1)mF' + m(b_1)mF'' \end{aligned}$$

and

$$x_n = \frac{1}{k_n} \left( \sum_i u_{n_i} \chi_{E_{n_i}} + a_1 \chi_{F'} + b_1 \chi_{F''} \right).$$

For  $k < k_n$ ,  $kx_n(t) < b_n$ ,  $t \in G_n$ ;  $kx_n(t) < b_1$ ,  $t \in F''$ , and  $kx_n(t) < a_1$ ,  $t \in F'$  imply  $p(kx_n(t)) \leq p(a_n)$ ,  $t \in G_n$ ;  $p(kx_n(t)) \leq p(a_1)$ ,  $t \in F''$  and  $p(kx_n(t)) < p(a_1)$ ,  $t \in F'$ . Hence

$$\begin{aligned} &\int_G N(p(kx_n(t))) dt \\ &= \int_{G_n} N(p(kx_n(t))) dt + \int_{F''} N(p(kx_n(t))) dt + \int_{F'} N(p(kx_n(t))) dt \\ &< N(p(a_n))mG_n + N(p(a_1))mF'' + N(p(a_1))mF' = 1. \end{aligned}$$

For  $k > k_n$ , as  $kx_n(t) > b_1, p(kx_n(t)) > p(a_1), t \in F''$ ,

$$\int_G N(p(kx_n(t))) dt > N(p(a_n))mG_n + N(p(a_1))mF' + N(p(a_1))mF'' = 1.$$

Thus  $k_n = k_{x_n}^* = k_{x_n}^{**}$ . By Theorem 1.27 in [3],

$$\|x_n\| = \frac{1}{k_n}(1 + \varrho_M(k_n x_n)) = 1.$$

By Theorem 1,  $x_n$  is a  $\lambda$ -point,  $n = 3, 4, \dots$ . Let  $(e_n, y_n, \lambda_n)$  be amenable to  $x$ ,

$$\begin{aligned}\|e_n\| &= (1 + \varrho_M(k_{e_n} e_n))/k_{e_n}, \\ \|y_n\| &= (1 + \varrho_M(k_{y_n} y_n))/k_{y_n}\end{aligned}$$

and

$$k'_n = k_{e_n} k_{y_n} / (\lambda_n k_{y_n} + (1 - \lambda_n) k_{e_n}),$$

then

$$\begin{aligned}\|x_n\| &= \lambda_n \|e_n\| + (1 - \lambda_n) \|y_n\| \\ &= \frac{\lambda_n}{k_{e_n}} (1 + \varrho_M(k_{e_n} e_n)) + \frac{(1 - \lambda_n)}{k_{y_n}} (1 + \varrho_M(k_{y_n} y_n)) \\ &= \frac{1}{k'_n} (1 + \frac{\lambda_n k'_n}{k_{e_n}} \int_G M(k_{e_n} e_n(t)) dt + \frac{(1 - \lambda_n) k'_n}{k_{y_n}} \int_G M(k_{y_n} y_n(t)) dt) \\ &\geq \frac{1}{k'_n} (1 + \int_G M(k'_n x_n(t)) dt) \geq \|x_n\|.\end{aligned}$$

By Theorem 1.27 in [3],  $k'_n \in [k_n^*, k_n^{**}]$ , hence  $k'_n = k_n$ . Considering  $t \in G_n$ ,  $k_n x_n(t) \in (a_n, b_n)$ , we have  $k_{e_n} e_n(t), k_{y_n} y_n(t) \in [a_n, b_n]$  for  $t \in G_n$  and  $k_n x_n(t) = k_{e_n} e_n(t) = k_{y_n} y_n(t)$  for  $t \in F' \cup F''$ . By Theorem 2.3 in [3], for  $t \in G_n$ , either  $k_{e_n} e_n(t) = a_n$  or  $k_{e_n} e_n(t) = b_n$ . Since

$$M(b_n) = \int_0^{b_n} p(u) du = M(a_n) + \int_{a_n}^{b_n} p(u) du \geq (b_n - a_n)p(a_n)$$

and

$$N(p(a_n)) = a_n p(a_n) - M(a_n) \leq a_n p(a_n)$$

by Young inequality, we have

$$M(b_n)/N(p(a_n)) \geq (b_n - a_n)p(a_n)/a_n p(a_n) \geq n^3 - 1.$$

Thus

$$M(b_n)mG_n \geq (n^3 - 1)N(p(a_n))mG_n = \frac{1}{2}(n^3 - 1).$$

Let  $E'_n = \{t \in G_n : k_{e_n} e_n(t) = b_n\}$ . If  $mE'_n = 0$ , then

$$\begin{aligned} \lambda_n k_n / k_{e_n} &= \frac{\lambda_n (\sum_1^n M(u_{n_i}) mE_{n_i} + C')}{M(a_n) mG_n + C'} \\ &\geq \frac{\lambda_n \sum_1^n ((1 - 1/i \ln n) M(a_n) + M(b_n)/i \ln n) mE_{n_i}}{M(a_n) mG_n + C'} \\ &\geq \frac{\lambda_n M(b_n) mG_n / n \ln n}{M(a_n) mG_n + C'} = \frac{\lambda_n / n \ln n}{M(a_n) / M(b_n) + C' / M(b_n) mG_n} \\ &\geq \frac{\lambda_n / n \ln n}{M(a_n) / M(n^3 a_n) + 2C' / (n^3 - 1)} \\ &\geq \frac{\lambda_n / n \ln n}{M(a_n) / n^3 M(a_n) + 4C' / n^3} = \lambda_n n^2 / (4C' + 1) \ln n, \end{aligned}$$

where  $C' = M(a_1) mF' + M(b_1) mF'' + 1$ . Remarking  $\lambda_n k_n / k_{e_n} \leq 1$ , as  $1/k_n = \lambda_n / k_{e_n} + (1 - \lambda_n) / k_{y_n}$ , and  $\lambda_n \geq \lambda_0$ , we have

$$\lambda_0 n^2 / (4C' + 1) \ln n \leq 1.$$

The contradiction for large  $n$  implies that there exists  $n'$  such that for  $n > n'$ ,  $mE'_n > 0$ . Let

$$i(n) = \max\{i : m(E'_n \cap E_{n_i}) > 0, \quad 1 \leq i \leq n\}.$$

For  $t \in E'_n \cap E_{n_{i(n)}} \subset G_n$ ,

$$\begin{aligned} &(1 - 1/i(n) \ln n) a_n + b_n / i(n) \ln n \\ &= k_n x_n(t) = \frac{\lambda_n k_n}{k_{e_n}} k_{e_n} e_n(t) + \frac{(1 - \lambda_n) k_n}{k_{y_n}} k_{y_n} y_n(t) \\ &= \frac{\lambda_n k_n}{k_{e_n}} b_n + \frac{(1 - \lambda_n) k_n}{k_{y_n}} k_{y_n} y_n(t) \geq \frac{\lambda_n k_n}{k_{e_n}} + \frac{(1 - \lambda_n) k_n}{k_{y_n}} a_n, \end{aligned}$$

as  $k_{y_n} y_n(t) \in [a_n, b_n]$ . Hence  $\lambda_n k_n / k_{e_n} \leq 1 / i(n) \ln n$ .

On the other hand, as  $\sum_1^n 1/i < \ln n$ ,

$$\begin{aligned} \lambda_n k_n / k_{e_n} &= \frac{\lambda_n (\sum_1^n M(u_{n_i}) mE_{n_i} + C')}{\sum_1^n M(a_n) mE_{n_i} \setminus E'_n + \sum_1^n M(b_n) mE_{n_i} \cap E'_n + C'} \\ &\geq \frac{\lambda_n \sum_1^n M(b_n) mE_{n_i} / i \ln n}{\sum_{i>i(n)} M(a_n) mE_{n_i} + \sum_{i \leq i(n)} M(b_n) mE_{n_i} + C'} \\ &\geq \frac{(\lambda_n M(b_n) mG_n \sum_1^n 1/i) / \ln n}{(M(a_n) mG_n + i(n) M(b_n) mG_n / n + C') n} \\ &\geq \frac{\lambda_n M(b_n) mG_n}{n M(a_n) mG_n + i(n) M(b_n) mG_n + n C'} \\ &\geq \frac{\lambda_n}{i/n^2 + i(n) + n C' / (n^3 - 1)} \geq \lambda_0 / 3i(n) \end{aligned}$$

for large  $n$ . Take  $n > n'$  satisfying  $nC'/(n^3 - 1) < 1$  and  $\lambda_0 > 3/\ln n$ . Then

$$1/i(n) \ln n \geq \lambda_n k_n / k_{e_n} \geq \lambda_0 / 3i(n) > 1/i(n) \ln n.$$

The contradiction shows that  $L_M$  does not have the uniform  $\lambda$ -property. ■

### Notes.

1. Theorem 1.27 in [3] had been used in Chen Shutao's paper "Some rotundities of Orlicz spaces with Orlicz norm" (Bull. Acad. Polon. Sci. **34** (1986), No. 9-10, 585-596).

2.  $\text{ext}(B(L_M)) \neq \emptyset$ . In fact,  $L_M = E_{(M)}^*$ , where

$$E_{(M)} = \{u \in L_M : \varrho_M(ku) < \infty \text{ for all } k > 0\}$$

with norm  $\|\cdot\|_{(M)}$  (see § 14.5 and Theorem 14.2 in [6]). By Krein-Milman theorem,

$$B(L_M) = \overline{\text{co}}^{w^*} \text{ext}(B(L_M)).$$

Therefore,  $\text{ext}(B(L_M)) \neq \emptyset$ .

### REFERENCES

- [1] Aron R.M., Lohman R.H., *A geometric function determined by extreme points of the unit ball of a normed space*, Pacific J. Math. **2** (1987), 209-231.
- [2] Wu Congxin, Zhao Shanzhong, Chen Junao, *On the calculating formula of the Orlicz norm and the strict convexity of Orlicz spaces*, J. Harbin Institute of Technology (1978), No. 2, 1-12.
- [3] Wu Congxin, Wang Tingfu, Chen Shutao, Wang Yuwen, *Geometry of Orlicz Spaces*, Harbin Institute of Technology Press, Harbin, 1986.
- [4] Chen Shutao, Sun Huiying, Wu Congxin,  *$\lambda$ -property of Orlicz spaces*, Bull. Acad. Polon. Sci. Math., to appear.
- [5] Chen Shutao, Shen Yaquan, *On the extreme points and the strict convexity of Orlicz space*, J. Harbin Normal Univ. (1985), No. 2, 1-6.
- [6] Krasnoselskii M.A., Rutickii Ya.B., *Convex Functions and Orlicz Spaces*, Groningen, Netherlands, 1961.

Department of Mathematics, Harbin Institute of Technology, Harbin, 150006, China

(Received March 7, 1990)